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Assignment #7

The Simplex method

and a review of:

slack/surplus

shadow price

sensitivity analysis

parametric analysis

20 points

DUE:  April 8

The Yummie Bakery makes coffee cakes and Danish rolls in large pans.  The main ingredients are flour and sugar.  There are 25 pounds of flour and 16 pounds of sugar available per day.  The daily demand for coffee cakes is no more than 5.  Five pounds of flour and two pounds of sugar are required to make a pan of coffee cake.  Five pounds of flour and four pounds of sugar are required to make a pan of Danish rolls.  A pan of coffee cake has a profit of $1, and a pan of Danish has a profit of $5.  Yummie owners want to know the number of pans of coffee cakes and Danish rolls to produce each day so that profit will be maximized.

PART 1:  Solve this model with STORM 

(Do not use Integer variables)

1.  As in every other assignment, report all the things management needs to know – the optimal solution, slack/surplus, and shadow price.

2.  The owners are considering a big sale on Danish on Friday.  Explain what will occur if they drop the profit to $1.50 per Danish.

3.  The owners are expecting a decrease in their shipment of flour on Monday.  They expect to receive only 18 pounds.  Explain what will occur.

4.  The owners have decided to stock up on sugar in anticipation of a possible upcoming shortage.  They are going to receive 30 pounds on Tuesday.  Explain what will occur.

PART 2:  Solve this model with the Simplex method

(Attach the SIMPLEX paper to your memo and STORM printout)

Simplex Tableau for this Model
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Simplex Tableau for this Model
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